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Important Instructions ]
1. 39 we=-yfiwa 4 T 64 U &) N @Rt B I. There are 64 pages in all in this Question-
; Booklet. Immediately after opening Lhe scals,
mmmﬁmﬁﬁﬂﬂﬁﬁﬂﬂﬁﬁ% check to ensure that 3l:’ht:re is Eut dgﬁzctlin the
| uestion-Booklet and all the pages are intact.
Driwpidinmping | el
any defect is detected, immediately inform
mmwmmwmwmﬁ the Room Invigilator. If nccussiry, the
| IITIHAAR YT aae & S| Question-Booklet will be replaced. S
2. ¥ WE-QRaaT ¥ e 200 agfamei we &1 s 2. There are in all 200 MCQ in this Question
ST 1 3B 1 B1 W FRT B R FON 30 T Booklet. Each question carries | mark. No
Ry S negative marks will be awarded for wrong
N answers.
3. g:;r:r @ B e T3 3M0UR03RO 3R e | 3. Answer the questions in OMR answer sheet
| only.
4. FOTHOHTO I b wﬁﬁlﬁ a‘wumm 4. Read the instructions given in OMR answer
735 R i m Fdent &1 earigdes ug o) sheet carefully before answering,
5 WA® §99 & OR Eﬁ?*ﬁm'ﬂ R & v ed 5. There are four alternative choices against each
jaﬂimaﬁmmqmahommm-m question. Select the correct and most
# 9 farq are et @ elyeeh vl $ afa appropriate choice and mark it with blue/
7 071 R 3 TR ST % b ) Tt b AR biack ball point pen in the right bubble of the
:rﬂli? C Y qd| OMR answer sheet in such a way that ink does
i % s & R not spread out of the bubble.
6. W fgf Wgﬁaﬂ; a e ffde 6. Rough Work can be done in specified space
YT 9% fasdl 31 9 6 | : given at the end of this Question-Booklet.

7. afE BE W T I & A S W W A 7. If you cannot answer a question, proceed to
SHIETa® TG A 7 B the next one. Don't waste time unnecessarily.

8. SI‘TOEH_‘;JSIHO ?ﬁ? e ot A e o T & 8. Do not fold or damage the OMR answer sheet
TR ¥ frpa | any way.

9. e FHIE B TR N0THOMNRO IR G738 B Bel 9. After examination submit your OMR answer
Frders & sragy dly &) svaffial & sAoewoaRo sheet to the invigilator. Candidates are atlowed
IR TP B B Fier vd 7o~ GReDT 31 |l a to take away the carbon copy of OMR answer
T Wﬁ 3 sheet and Question-Booklet.

pu22 ﬂ P.T.0.
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HING Yo HHTH U Eﬁﬁ Enzﬁ‘r
ufeen & - e

(A) WaR |
(B) T ANIEER
(C) R Arag
(D) 3R it

ﬁnﬁﬂ%ﬂmﬁmmm&
¥ W me?ﬁ?ﬁgu .
(A) ITUEUE

(B) frsim

(C) womR
(D) T

URA 1 A e aray g # -
(A) HgHa g

(B) = WWRY

(C) 4 fe=

(0) e vy

FERFEUE ¥ SRS via<rard & walt
s R fera & -

(A) FEA™

(B) FETRATY ‘
(C) T

(D) ERBR

FriRrgr I W TRR & fa sm B
ofa aar & -

(A) Tpd

(B) ata

(C) e

(D) ¥4

he
The first woman to receive 1

Bharat Ratna award IS ~
(A) Mother Teresa

(B) Lata Mangeshkar
(C) Sarojni Naidu

(D) Indira Gandhi

In which of the following state,
general assembly elections were
not held in February/March 2022 =
(A) Uttarakhand

(B) Mizoram

(C) Manipur

(D) Goa

what is the national motto of India=
(A} Satyamev Jayate

{B) Vande Mataram

{C) JaiHind

(D) Satyam Shivam Sundaram

Where is the Samadhi (Sepulture)
of Adiguru Shankaracharya situated
in Uttarakhand -

(A) Badnnath

(B) Kedarnath

{C) Gangotri

(D) Haridwar

'‘Pneumonia’ disease affects which
part of the human body -

(A) Liver

(B) Intestine

(C) Lungs

(D) Heart

P.T.0.
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10.

DU22

M= A 8 169 I3 & ITaaaE 8
HEMTRAT HIRe &7 307 27 -

(A) T Hid

(B) 3w 3z

(C) wammee

(D) WTER T

7T feren &1 @l g e @
fo5vr Twre &1 @ A -

(A) &R B &

(B) 3HER P HEA

(C) TENMR &7 B

(D) WESTET BT BT

Ryt & 3ifem % @F & -
(A) &1 qEjR
(B) To &RfdeH

(C) 7% dTEagR
(D) T Mfa= R

HRE HH A w2 QRN B 9-
(A) fafew

(B) &a

(C) 3w

(D) gefmerr

TSN I X[ fed arares @
W 9 o -

(A) ¥aw= Bt

(B) & o

(C) fog e

(D) B

(4]

10.

Afghanistan was a part or India
during the reign of which of the
following King —

(A) Chandragupta Maurya

(8) Durlabh Vardhan

(C) Pratapaditya

(D) Bhaskar Varman

The 'Golden age' of Mughal painting
was the period of which of the
following emperor -

(A) Babur's period

(B) Akbar's period

(C) Jahangir's period

(D) Shahjahan's period

Who was the last Guru of Sikhs -
(A) Banda Bahadur

(B) Guru Harkishan

(C) Guru Teghbahadur

(D) Guru Gobind Singh

Who were the first European to
come to India -

(A) The British

(B) The French

(C) The Dutch

(D) The Portuguese

Raja Rammohan Roy began to
publish which weekly -

(A) Sambad Kaumudi

(B) The Bengal Gazette

(C) The Hindu Patrika

(D) The Kesari
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11.

12,

13.

14.

f:ﬁ;ﬂ‘?ﬁmmwa:ﬂw
(A) IR S

(B) USEH

(C) wed wea

(D) HEUTA w29

Fefeiad 2 & e ammmsa & s
B 3R A feeeh Tl Ry -
(A) 3T

(B) FEMR

(C) 3RmsE

(D) IMESTET

IRRAVE §, FUT WS & Nrencra)
® U Wie ot el off -

(A) STeTH (2BTGH)

() digy

(c) Red

(D) FMwER (33

TgaTe vtz & Afe 3 weelRa)
TR e 9o A 3SR B] ear a1 -
(A) Faersa 3= §

(B) 3 Edm FEw A

(C) Wf=a asn e o

(D) WRA B e ¥

11.

12

13,

14,

[B]

Which state has the largest area
under permanent forests -

{(A) urtar Pradesh

(B) Rajasthan

(C) Madhya Pradesh

([Y) Arunachal Pradesh

Who among the following shifted
the capital of the Empire from Agra
to Delhy -

(A} Akbar

(B) Jahangir

{C) Aurangzeb

(D) Shahjahan

Where in Uttarakhand, was a copy
of Emperor Ashok's Rock Edicts
discovered -

(A) Kalsi (Dehradun)

(B) Paun

(C) Tehn

(D) Jageshwar (Almora)

The soldiers of Garhwal Regiment
refused to fire on the revolutionaries
in -

(A) Khilafat moverment

(B) Non-cooperation movement
(C) Civil Disobedience movement

(D) Quit India movement

’IT-oI
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185,

16.

17.

18.

19.

DU22

Porterfaa % ¥ sita dfRas e A

gfe &1 B a1 e gnmm?

(A) frea o 99 3iR fimel @1 fawar

(B) AR 31 & ®R ¥ gfe

(C) Wi wieti &1 W | gt I
S

(D) @I (A) 3R (B)

Rerex wbe &1 wam fooet wmos o fore
oo e & -

(A) TR DY A

(B) arg & an

(C) Y& & e

(D) R BT T

Frafefas & @ e 2w o aftreaw
T § W Al e -

(A) WRd

(B) R+

(C) g.ed.u.

(D) B

#1418 (NABARD) Haftrq & -

(A) T Y foesrey wiven @

(8) 1 R v wmdhor Ry afteg
il

(C) Ira B vd wmdior ey dm
(D) I wmdor Ry &

Frer 3 & e g o =i 2 -

(A) & HEW - JEAR

(B) 3T ARG - R

(C) TRAFRK - daxmr

(D) IRE TN & wpavr- wrar
(faerR)

15.

16.

37,

18.

19.

B ]

Which of the following would

indicate an increase in the average

global temperature?

(A) An expansion of glaciers
around the world.

(B) A rise in sea level.

(C) Earlier freeze dates for major
lakes.

(D) Both (A) and (B)

Richter scale is used for measuring=

(A) Humidity of air

(B) Velacity of wind

(C) Intensity of earthquake
(D) Density of liquid

In which of the following countries
maxjmum number of languages are
spoken -

(A) India

(B) Britain

(C) US.A.

(D) France

NABARD is related to -

(A) National Agricultural
Development Organization

(B) National Board for Agricultural
and Rural Development

(C) National Bank for Agriculture
and Rural Development

(D) National Bank for Rural
Development

Which of the following pair is not

correctly matched -

(A) Hawa Mahal - Udaipur

(B) Jama Masjid - Delhi

(C) Charminar - Hyderabad

(D) Shershah Suri's Tomb -
Sasaram (Bihar)
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20

21.

22.

23.

24,

o I WK e o
seaTa ® STE 4T -
(A) o5 § TN G
(B) 42 & THENLH R
(C) 44 & HIEH R
(D) 52 d WML I

yra ¥ dfue & Frefafes § 3 s
:mgaiﬁmqmﬁaﬁi%m%ﬁaﬁm
(A) IF[EE - 44
(B) AT - 46
(C) IadE - 48
(D) SR - 17

¥z GRER B gaTed fafaer ¥as D
-

(8) & Hfea
(C) WA &1 o e
(D) e al@

Fue ¥ 21 |3l ¥ dra st e
o1 B T &P

(A) 2FEW

(B) IWEM

(C) 4%EH

(D) 6 HEMA

<R Ry e e 1 AR
T R AT v S e 21 A
wftrfera fasar mar?
(A) 86 df HiEH
(B) 87 df HMEA
(C) 88 df e
(D) B9 &Y el

Duz2

20.

21,

22;

23

24.

e
The word ‘'secularism' was inserted

in the preamble of the Indian
Constitution by-

(A) 25" Amendment
(B) 42% Amendment
(C) 44™ Amendment
(D) 52 Amendment

Which of the following article of the
constitution of India is related to the
Uniform Civil Code?

(A) Article - 44

(B) Article - 46

(C) Article - 48

(D) Article - 17

The highest civil servant of the
Union Government is -

(A) Attorney General

(B) Home Secretary

(C) Principal Secretary to P.M.
(D) Cabinet Secretary

What can be the maximum interval

between two sessions of

Parliament?

(A) 2 months
(B) 3 months
(C) 4 months
(D) 6 months

Which amendment to the
constitution inserted a new Article
'21 A' providing Right to Education?
(A) 86" Amendment
(B) 87" Amendment
(C) 88" Amendment
(D) 89" Amendment

'QTIOI
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25. S W WHe w@red o SR

T 14T, difE OF -

(A) foe Tomet & werger & Imar
ST &

(B) ¥R HHW IRa 3R Se-es! &
3w & & 3 s 21

(C) e 7gm &)

(D) 3RIEH { B T

26. F=foReaa & ¥ a7 a1 wee o
JUSIE (HDI) &1 UCH el & -
(A) wfa =afes 3ma
(B) T & W9Y =ia Seamem
(C) T ATHIGH 2
(D) =g 3R dyoy

27. R o1 SRy & -
(A) W &t 3y & afy
(B) WROR & Uiy T} & gf

(C) Tg1 &t Myt & oy
(D) e &t g # gfx

28. ﬁnﬁf&ﬁﬁsﬁwﬁmﬁ:ﬁrwm
Tt S & -

(A) &rvmvge
(B) WemwUgH
(C) HAHoE
(D) afgwuge

DU22

L

25. Organic food is supposed to be
better for human health as :

(A) Itis raised on special chemicals,

(B) Itis grown without the use pof
artificial fertilizers ang
pesticides.

(C) Itis more expensive.

(D) None of the above

26. Which one of the following is not a
Constituent of Human Development
Index (HDI) -

(A) Per Capita Income

(B) Life Expectancy at Birth
(C) Gross Enrolment Rate
(D) Health and Nutrition

27. Inflation is caused by -
(A) Increase in supply of goods
(B) Increase in cash with the
Government
(C) Decrease in money supply
(D) Increase in money supply

28. The maximum concentration of

ozone is found in which of the
following -
(A) Troposphere
(B) Mesosphere
(C) Stratosphere
(D) Exosphere



29.

30.

31

32.

33.

FrafaRaa & 3 B andlia ast o v
FRO & -

(A) =

(B) AL SEHITHTS

(C) T STFITES

(D) BEA RAHITAES

29,

30.

31.

3Z.

33.

L=
The most biodiversity rich area in
India is -
(A) Gangetic Plain
(B) Trans Himalayas
(C) Western Ghats
(D) Central India

India has longest international
border with which country ~

(A) China

(B) Nepal

(C) Bangladesh

(D) Pakistan

Which among the following is the
major cause of acid rain —

(A) Oxygen

(B) Nitrogen dioxide

(C) Carbon dioxide

(D) Carbon monoxide

The exponent of Yoga Philosophy
is -

(A) Baba Ramdev

(B) Shankaracharya

(C) Ravi Shankar

(D) Patanjali

Which country is called the 'country
of winds' -
(A) Norway
(B) Denmark
(C) India
(D) Japan
R.T.O.
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34,

35.

36.

37.

DU22

Tad TOR Tpfed w@rd 2 -
(A) &1

(B8) ThEA

(C) awer

(D) @fe™m

wa 1@ V-l 3 Feafte wHiad
2 7 & a9 7 & T 22

(i) wfeRen-a3 & afa

(i) el B afer

(iii) @ B HW

(iv) FHEEE & FH

(A) (i) 3R (i)

(8) (ii) IR (iv)

(C) (i) 3R (iii)

(D) (iii) 3R (iv)

Peddsorsaaa & & -

(A) WnEAmHwRe

(B) &fEn Fam ve & afs & wa B
3w &

(c) ARw % = =fes wite & v
&

(D) #fen vd st Haw 21

oo Frere e’ s s woman smn
-

(A) 5 famR

(B) 5 FaKAR

(C) 5 Famr

(D) 1 3t

(10)

—

34. The hardest natural subsl2nie g -

35.

36.

37,

(A} Diamond
(B) Tungsten
(c)

(D)

lron

Platinum

Excessive exposure of humans i
UV-rays resulits in =

(i) damage to immune System
(i)
(iii)
(iv)
(A)
(8)
(C)
(D)

damage o lungs
skin cancer

peptic uicers
(i) and (i)
(ii) and (iv)
(i) and (iii)
(iii) and (iv)

which of the following statement
is not true -

(A) Chatting is like e-mail.

(B) Chatting can only be done with
a single person.

Chatting can invoive muitipie
persons.

Chatting is an electronic

dialogue.

()

(D)

‘World Teacher’s Day’ is celebrated
on which day -

(A) S September

(B) S October

(C) 5 November

(D) 1April

Page- 9



39.

40.

iy 3 BRR' QS 3 aE® B
5

(A) T4, 3TegE OTH

(B) Idwfd @

(C) TR aT

(D) vH.TH.

41,

DU22

[11]

38.

39.

40.

41.

Which disease i1s diagnosed °Y
'ELISA test' -

(A) Polio

(B) Cancer

(C) Typhoid

(D) AIDS

Officially, the state game of
Uttarakhand is -

(A)
(B)
(C)
(D)

Football
Cricket
Kabaddi

Hockey

Where will the Olympic games be
held in year 2024 -

(A) Tokyo

(B)
(C) Pans

Beijing

(D) Los Angeles

Who is the author of the book
'Wings of Fire' —

(A) A.P.J. Abdul Kalam

(B) Arundhati Roy

{C) Annie Besant

(D) M.S. Dhoni

P.T.0.
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42.

43.

44,

45.

fow wetrar wfecem gtedt Raemdh 1 o
2021 % JeRTEVE iy Je g A
i fasar -

FRIEUE & v ferem=ryn srezay o -
(A) WabTeT g

(B) U 3

(C) gy g der=

(D) Frearie wnd)

B & ¥ g9 & gguwd o § By
HIRGta TR} Bt R a3 fre
e T AT BT Ty qay @ -
(A) 3R ¥ &y

(B) 3oy IEq

(C) 3ifem Rt 2m

+ (D) 3T 1T

DU22

[12)

42.

43.

44,

45.

—

Which Indian Woman hockey player
is honoured by Uttarakhand Tjj,
Rauteli award in year 2021 -

(A) Rani Rampal

(B) Savita Punia

(C) Vandana Katariya

(D) Sushila Chanu

How many districts of Uttarakhand
touch the international border -
(A) Three

(B)
(C)
(D)

Four
Five
Six

The
Legislative Assembly was -
(A) Prakash Pant

(B) Yashpal Arya

(C) Raghunath Singh Chauhan
(D) Nityanand Swami

first speaker of Uttarakhand

What is the name of the campaign
recently launched for the safe
return of Indijan Citizens trapped in
war zone of Ukraine -

(A) Operation Surya Hope

(B) Operation Rahat

(C) Operation Return Home

(D) Operation Gangag

Page- 11



46.

47.

48.

49.

50.

Fitfafaa ¥ & B wRa 3 el 3ames
FEEA I AL -

(A) I faga wa=

(B) g St §IA

(c) amirg aff §ad

(D) 9& Tt

wra A faeeh Rfma woa &1
< fses g fa st &7

() waa el &

(B) i:mhawazaas

(13]

46

47.

48.

49.

50.

——

Which crop among the following has
maximum area of cultivation 11
India—

(A) Wheat

{B) Sugarcane

(C) Rice

(D) Cotton

Which of the following is not a Kharif
Crop -

(A) Maize
(B) Mustard
(C) Groundnut
(D) Bajra

Which city is called 'Silicon Valley'
of India -

(A) Bengaluru

(B) Noida

(C) Chennai

(D) Ahmedabad

Which one of the following is the

largest source of electricity
generation in India -

(A) Hydro Power plants

(B) Nuclear Power plants

(C) Thermal Power plants

(D) Wind Energy

Who maintains the foreign
exchange reserves in India?

(A) Reserve Bank of India

(B) State Bank of India

(C) Ministry of Finance,
Government of India
Import-Export Bank of India

P.7.0.

(D)
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51.

ad,

53.

forer s it a1 wiae wgor @ 2,
I TBR ‘G BT FaY e 37
(A) famma

(B) wfer

(C) =g

(D) wifey

T : TS (B H s &
YT DI & IR R Frfafiga 3
3 #t-a1 Frewd Frasem 31 e 2-
(A) PO YIS U T8 21 &)
(B) Q¥ daet qeamwera § &)

(C) JRIoIg $ae et & P &
(D) B qR@Ier Twes e 8 |

ﬂnﬁmwﬁﬁﬁ%mmaﬁ
e, 3 A R it et amrfera
& TR I B FAY: MeY, Gy
& IR Qe S I e -

¥ ITPherdi-
1K

DU22

A A
A A
(B)

VvV
V¥

(C)

W v
A A

(D)

IA \%
AV
(A)

[14]

51.

52.

23.

As 'Smoke' is related to 'P'volh..utj(,,.l.I
in the same way, 'War' is relateqg
to -

(A) Destruction

(B) Treaty

(C) Victory

(D) Peace

Statement : Every library has

books.

On the basis of the aboye
statement, which of the following
conclusion can be drawn -

(A) Some libraries do not have

readers.
(B) Books are only in the library,
(C) Libraries are only for books.
(D) No library is bookless.

From the given answer figures,
select the figure which will be
obtained by folding, punching and
opening the paper respectively as
shown below in question figures-
Question Figures-

R

vl
| Iz

Answer Figures—

A VA AV Vv T

A VIA AV v]|a A

(A) (®) © (o

Page- 13



54. et dUTHICT T 7 T g2 54. Find the missing term (7} 1M

following letter series ~ |

AZ, CX, EV,? AZ, CX, EV,?

(A) GS (A) GS '

(B) GT (B) GT

(C) FT (C) FT

(D) HS (D) HS |
s5. BF®DH Y I TR Hau ¥, 3 55. BF is related to DH in the same way

ps &1 Ffoiaa A 2 - as PS is related to -

(A) SU (A) SU

(8) SV (8) sV

(C) RV (C) RV

(D) RU (D) RU

sg. TR 'LIGHT & FT o 'GILTH' fasar 56. If 'LIGHT' is coded as 'GILTH', then

e & A 'RAINY' T T & - find the code for 'RAINY' -
(A) IARYN (A) IARYN
(B) ARINY (B) ARINY
(C) NAIRY (C) NAIRY
(D) RINAY (D) RINAY
57. fad) 8 Wt W, 57. In a code language -

125 = Go to school
146 = Study in school

125 = Go to school
146 = Study in school

135 = Run to school 135 = Run to school

Run' ¥ 0 @ sl wam Which digit is used for 'Run' -
™ #- (A) 1
(A) 1 (8) 2
(B) 2 (C) 3
(C) 3 (D) 6
(D) 6
bu22 [15] r.1.0.
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58.

59.

60.

61.

DU22

I & 7R IR IHpiaar ¥ A oA
U9 3pid Afafga &2
e Pt
IR IMHiaar-
s {H

(A) (B) (C) (D)
R 2} B8 IR sl wea sl
& iy &) g1 e
e 3Pt

fﬁ\‘

\s':
ITR Hpheral-

ZA N
(A) (B) (C) (D)
A PR X SIRZesuRp 3 & s
IR zam d &) A3k P AR ) &)
R, A &t 3R do7 &) P & S i
3R @l &2
(A) S
(B) X
(C) Z
(D) ¥ A o1 7
afz pofy @ Q&1 AR R W # S e
Q#, A R A P 3 T Wy &
(A) &4
(B) H@T
(C) |™
(D) #RR

[15]

58.

29.

60.

61.

2]
Which of the answer figures giyg,
below contains the question figyre;
Question figure

Answer figures-

F H{H

(A) (B) (C) (D)

Which of the following answer figure
will complete the pattern in the
question figure?
Question figure

rs
(&

Answer figures-

A4 | A |4

(A) (B) (C) (D)

A, P, R, X, S and Z are sitting in a

row. S and Z are in the centre. A
and P are at the ends. R is sitting
to the left of A, Who is to the just
right of P?

(A) S

(B) X

(C) Z

(D) None of these

=

If P is husband of Q and R is mother

of S & Q, then how is P related to
R?

(A) Sister

(B) Mother

(C) Mother in law
(D) Aunt
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63.

64.

65.

ifa firs-wfas, 901, 9, 30 si
am &1 A, THE | B &, s 1w
3 o 21 WS Ed oy 21 3reop
e A g1 BT & AR A § oy
ot 31 GEX1 AEY R B &2

(A) TH

(8) HfeH

(C) HA

(D) F7OT

ey e 3 we= g () B WA W
P | 1z FEm -
adcf?hg?i

(A) e ]

(B) e, k

(C) i, e

(D) f. ]

Prforfer & a1 v Fi e
# frer W W gme

(A) Transmit

(B) Transplant

(C) Transport

(D) Translate

62. Choose the odd word In the given

63.

64.

65.

alternatives -
(A) Copper
(B) Brass
(C) Aluminium
(D) Iron

There are five friends - Sachin,
Kamal, Mohan, Arun and Ram.
Sachin is shorter than Kamal, but
taller than Ram. Mohan is the
tallest. Arun is a little shorter than
Kamnal and a little taller than Sachin.
Who is the second tallest?

(A) Ram

(B) Sachin

(C) Kamal

(D) Arun

Which terms will come in place of
question marks (?) In the following
series -

adcf?hg?i

(A) e]

(B) e k

(C) J e

(D) f, ]

Which of the following word will
come third in the English dictionary?
(A) Transmit

(B) Transplant

(C) Transport

(D) Translate
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66.

67.

68.

FoTRae el & ¥Ry srer-<iem W
B e 3 3 wgEl A R @ -
(A) DG2

(B) EKS

(C) JR6

(D) RV3

Fraferfae s & @ 3 v Bifvem
TER | TR & Safd oy v e 2
I8 0® HE gfe 3 oF &9 J Rm
ﬁ_

(A) 17

(B) 15

(C) 13

(D) 11

Ty By e et 3 9y e wemares

fomg (?) 3 38 anfy -
ap

DU22

(A) 23
(B) 27
(C) 21

(D) 25

(18]

——

66. In the following options, choose the

67.

68.

number-letter group which (g
different from the others -

(A) DG2

(B) EKS

(C) JR6

(D) RV3

In following numbers, three are
alike in some manner while one is
different. Choose the one which js
different from the rest three -
(A) 17

(B) 15

(C) 13

(D) 11

Which number will replace the

question mark in pattern below -

7(9

20| 8

aR
]/

an

(A) 23
(B) 27
(C) 21
(D) 25

Page- 17



o, faume fesed 9 OB SR a1 g
A 3 TN HAPHRTET BRT Ty
FA ST B TR & -

s e
S R
&

BEREERER
(A)

(8) (C) (D)
ggﬁ’fﬁrawzfﬁmqﬁma& AR B
g 225° anTad 3R R 315° afironad
gaﬁlttagmﬁm%mahmm
A -

(A) famor-gd

(B) W
(C) Fer-uf¥aw

(D) IR

]

70.

ey 3 ) @ 1 O g 31w &,
of Re e Bw B #he B AR =

a1 e?

71.

H || = | N

2

- 5
6 1

(17

P
w @ @ @
ou22

69.

70.

71.

19]

Select a figure from the given

options which will continue the
same series as established by the

Problem Figures -

Problem Figures

DR |

SF

]
5| ] (3

(A) (B) (C) (D)

Suhani is facing towards South-
West, She turns 225° anticlockwise
and then 3159 clockwise. Which
direction is she facing now-

(A) South-East

(B) East

(C) North-West

(D) North

Which of the following cubes can
be formed if the given sheet of
paper Is folded to form a cube?

5
3|1
6
41 2
55 : 15 z 51 7 .
@w @ (© ®
p.T.0,
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72.

73,

& T W SaEen ® oA e 6 #,
Sredodafrae 372 -

9639436693369363963
69

(A) O

(B) 1

(C) 2

(D) 3
Frafefan doftas o=l & 4 30 o=
BTN N mwesaot I
FE g1 7 AHen & -

INCARCERATION
(A) RELATION
(B) TERRAIN
(C) INACTION
(D) CREATION

Ren-Fbw (71 74 A 18) : I & 8 sy

DuU22

&1 0g 3R f=foRRea s s1 39 2 -
P, Q, R, s 3R T ifa @fts & va geai
Reengt 2, ves o Raemd & 3tk v
gt Raemd) &1 p 3tk s Hfdarfea afeem
& 3R e ot @ & s 3 o &)
D13 N wigen A a1 peard & Ferd
¢l vs Rarfea ST & e Tl &1 R
&1 Wig Q& 3R 3 7 & 3w Raemd @
3R 7 2 gt Raems) &)

[20]

—

72. How many 6's are there which zr

73,

Preceded by 9 but not folicwed g,
3 in the given number series -
963943669336936339¢3
69

(A) ©

(B) 1

(C) 2

(D) 3

From the given alternative words,
select the word which cannot pe
formed using the letters of the given

word -

INCARCERATION
(A) RELATION
(B) TERRAIN
(C) INACTION
(D) CREATION

Directions (Questions 74 to 78) :

Study the information given below

and answer the questions that
follow

There are five persons P Q R, S
and T. One is football player, one is
chess player and one is hockey
player. Pand S are unmarried ladies
and do not participate in any game.
None of the ladies plays chess or
football. There is a married couple
in which T is the husband. Q is the
brother of R and is neither a chess

player nor a hockey player.
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74

75

76.

77,

78,

_?gafaﬁaﬂ@a?h%?

(p) P
(8) Q
() R
(D) 5

Zi Raed) B 22
(A) P
(8) Q
(C) R
(D) S

¥ faems) a9 &2
(A) P
(B) Q
(C) R
(D) T

T & o=l B 87
(R) P
(B) Q
(C) R
(D) S

A wigemt € -
(A) QR
(B) QRS
(C) QS
(D) PR,S

(2]

74.

75.

76,

77.

78.

Who is the football player?
(A) P
(B) Q
(C) R
(D) S

Who is the hockey player?
(A) P
(B) Q
(C) R
(D) S

Who is the chess player?
(A) P
(B) Q
(C) R
() T

Who is the wife of T?
(A) P
(B) Q
(C) R
(D) S

The three ladies are -
(A) PRQR
(B) QR,S
(©) PQS
(D) PR,S

"E‘%‘e- 20



Renfdber (et 79 9 81) + gt wesd B FeR A

79.

80,

DuU22

& e M Re ne e @ araa

Y

30Reh 3ngly A Pysgar nid) & afdenad
) aarfen &, and A AQamR wikem o
awitan e @ aite e Rifdra widenan o
ufen &

HaR o foswa wfafRe aswan @ -

(A) dfar A sifdfdra wigeno

(B) ifa & RsmR wfikens sn Mrfdra
T8 &

(C) Rnfdye AR wfemo

(D) frfdre Predfora nfteme

miaY # Miftre R wfkams @ zerfar
-

(A) AGRT

(B) BRI

(C) DERI

(D) EgWmI

[22)

Directions (Questions 79 to 81) ;

Study the diagram given below to

answer these questions | |

Fhe triangle In the above figure
depicts women In villages, the
square depicts the unemployed
women and the circle depicts the

educated women.

79. What does letter D represent -
(A) Uneducated women In villages
(B) Unemployed women In villages
who are not educated
(C) Educated unemployed women

(D) Educated employed women

80. Educated unemployed women In
villages are represented by -
(A) A
(B) B
(C) D
(D) E
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81. ﬁf&ﬁwmaﬁﬁﬂﬁmm
3
(a) B3R CEN
() D3R EEK
(c) ESRFE
(D) G 3R E &)

gy, Ot < @ I W, > Bl 3nf
e, = 01 70 3 T e o
o - R &, & 27>8149<6
&7 W a1 BAT?
(A) ©
(B) 33
(C) 36

(D) T & DIg el

83. dfe 1 FRER B IMaR 8, Al 1 FaR
I & -
(A) QAR
(B) HCHAR
(C) gUar
(D) THaR

84. Frmffee desit & &) siwi B ¥
¥ 0 Fery s & 1 e €
forend 8 37w s &2
&£52,1,7,6
(A) 9
(B) 10
(C) 11

(D) 12

81.

82.

83.

84,

gducated unemployed women are
represented by -

(A) BandC

(B) DandE

(C) EandF

(D) GandE

If '<' means 'minus', '>' means
'plus’, '=' means 'multiplied by' and
‘¢' means 'divided by', then what
would be the value of 27>81$9<6?
(A) 6

(B) 33

(C) 36

(D) None of these

If 1st October is Sunday, then 1st
November will be -

(A) Monday

(B) Tuesday

(C) Wednesday

(D) Thursday

How many combinations of two-
digit numbers having B can be made
from the foliowing numbers?
85,217,6

(A) 9

(B) 10

(C) 11

(D) 12

BEOG, 6. 22
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85.

86.

Du22

P - sl (i) 3R (i) v o
Wi  Hafere & R froed § 4 ww
SPRT R et (iii) R (iv) B
S T W _fte B, S s
(iv) % wo1 o a1 w4
¥ Jpferat-
I =) 2
() i) Gii)  (iv)
IR plerd-
(A) (B) (C) (D)
& 7t sl § Bt B v I
DIt -
& AQ
{
(A) 5
(B) 6
(C) 8
(D) 10

85.

86.

Direction : Figures (i) and (jj) are
related in a particular manpg,
Establish the same relationsp,
between figures (iii) and (iv) by
choosing a figure from amongst the
given alternatives, which woy,

replace the questions mark in fig. (),

Problem Figures-

)| 2

[r'=-

(i) (i) Qi)  (iv)

Answer Figures—

0% 0%

(A) (B) (C) (D)

Find the number of tnangles in the
given figure-

/\

(A) 5
(B) 6
(C) 8
(D) 10
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m(mﬂﬂﬂﬁﬁﬁ‘:‘%ﬁ?ﬂﬁﬁm
e 4, fe T TR Tt (a), ()
OEL (D) # ¥ 3meghy (X) & o
g1 sfefed & T B adoy g
gt 1 MN GIRT o g &

87.
g N
(X)

R
. \W

S
(A) (B)

H

88. @

N (x)

w  ®

89. I Um we PRI (X) & T &1 IS
srpfRra 3 % 39 ey o e &R 3N
Ff (x) & ar firera oo ol A &
fomfor aR-

sk

(X)

1 [

(A)

e r'ys

LJM'

(D)

3
e
(©)

(C)

X

(D)

(©) (D)

(B)

(=]

| B

Directions (Questions 87 to 88) : In

each of the following questions,

choose the correct mirror-image of

the Figure (X) from amongst the

four alternatives (A), (B), (C) and

(D) along with it. The mirror IS
represented by a line MN.

1

87.
» T
(X)
= LM 2 #‘
= M & WM
(A) B) (©) (D)
o
N (X
Y ()
(x| A] ]
(A) (8) (S) (D)
89. Given below is a problem figure

marked (X). Select a figure from
amongst the alternative figures
which exactly fit into figure (X) to
form a complete square.

7

()
(A) (B)

&

(D)
P.Y.0.

(C)
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90.

91.

DU22

Rede : Fr=gem & qareme 5

IR Il (A), (B), (C) 3R (D) F

¥ B R s, e s (AR
&

0
A\
/| ?
AN NN

(A) (B) (C) (D)
Fr= fasedt & v=i B ar SR Reme
g, iorrl @ v @ O 3 SRt A
fee e e T v @ et & ==
St g e 2 v e veR @
afera & -

(A) @& : B

A

(B) d9g : 3=

(C) q&1: 39
(D) uer:fFe

90.

91

B]
Direction : In the Fﬂiloumg

question, find out which of the
answer figures (A), (B), (C) and (p;
completes the figure matnx -

O
/| ?
P[NP

(A) (B) (O)

A

(D)

In following options, four pairs of
words are given, out of which the
words in all pairs except one, bear
a certain common relationship.
Choose the pair in which the words
are differently related-

(A) Class : Students

(B) Sentence : Words

(C) Tree : Forest

(D) Hour : Minutes
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52, a2 p+ QB IRPQY Ry
'PxQ’ﬁng'P,Qaﬂmé.:
p-Q @It 2P QA ¥ g
Ereffaa H ATMC -A + BHTY
fifyaa q A |a 2
(A) B, A1)

(B) A, C & dcT &
(C) B, A o &l
(D) C, B3 H Rl

93. 0 e Raemd), 2 Raedt & 30
*rq R, Bt Raemd & 2 9
Pt Raerdy, et Raemdy = 2
ﬁnﬁ!ﬁiﬂﬁ#aﬂﬂmiﬂmm
it o W& R e &7

O
& &
ap 0

(i b L]

(27]

92.

93.

(A)
(C)

If'P + Q' means 'P Is the father of
Q', 'P x Q' means P |5 the brother

of Q'; 'P-Q' means 'P Is the mother
of Q', then which of the following is
definitely true about C-A+8?

(A) Bis the son of A.

(B) A is the son of C.

(C) B is the father of A.

(D) C is the mother of B.

Some of the cricket players are
tennis players, some tennis players
are hockey players, none of the
cricket player is a hockey player.
which of the following Venn
diagrams correctly represents the

above statements?
(

ey

B)

(D)

r.T.0.
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94,

95.

ey : FrefaReg ye §, 0!
35T quiaTan & 3rERT & T fedl
T 31 39 fawew @ g S fee e
TS B Tt whatee st a2 -
FROG

(A) L¥OG

(B) GORF

(C) oou4

(D) rdO C

afe 3iET qumer & Tedt 3R 26d,
T 3R 258, A 3k 243, 3k =
TRE Y Y qUif & ST & T 8,
al =1 9 @ @9 a1 e T -

(A) GR

(B) CW

(C) P

(D) EV

A (v W 96 v 97) - & WY TR

96.

97

DU22

IR-spiEl § ¥ B-0 ve gy,
e 3mpha 7 fee e g@et & s ;n
Hadl 27
T PR IR Fpherat
/\'.'3
is T IEAY
(A) (B) (C) (D)
ye pla IR Fpleal
dﬁdl 5
e
(A) (B) (C) (D)

94, Directions

95.

: In the following

questions, you are given a
combination of alphabets. Choose
the alternative which most closely
resembles the water-image of the
given combination.

FROG

(A) tyoe
(B) GORF
(C) ©0ud
(D) MO C

If 1st and 26th, 2nd and 25th, 3rd

and 24th, and so on letters of the
English alphabet are paired, then
which of the following pair is
correct?
(A) GR
(B) CW
(C) Ip
(D) EV

Direction (Q. No. 96 and 97) : Which

one of the given four answer-
figures can be formed from the
pieces given in problem figure ?

96. Problem Answer Figures
Figure
ﬁ'CI
s | ] ﬂt‘l}\‘%}l
(A) (B) (C) (D)
97. Problem Answer Figures
Figure

B

(D)

‘A

(A) (B) (C)
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99.

(A) (i), (W), (1ii), (v), (v)
(8) (m), (i), (1), (iv), (v)
() (i), (1), (in), (v}, (v)
(D) (), (v), (1), (hit), (i)

8 : 50 @ ¥ 20 Firre ot do3 W R
wEad g0 WA B TR Aieq &30 b aw
40 fire 3 A 3 a1 aufen Q 30 fme
9Ed 3 mar 81 a' qange fh dos @
fFreifta awrg @ wr?

(A) 8:20
(B) 8:10
(C) 8:05
(D) 8:00

100, Uy & @) Rerferat wefda & al s

T TR A, A gaR A ad A &

?
B
(A) 6 (8) 4

(C) 3 (D) 2

DU22

[29]

LB

98. Which ajternative represents the

99.

logical sequence of the words given
below -

(i) Diagnose

(i) Doctor

(iit) Sick

(iv) Treatment

(v) Convalesce

(A) (i), (i), Ciii), (iv), (V)
(B) (iii), (ii), (i), (iv), (V)
(C) (i), (i), (i), (iv), (V)
(D) (iv), (v), (i), Ciii), (ii)

Reaching the meeting place 20
minutes before 8:50, Satish came
to know that he had arrived 30
minutes before the one who was
40 minutes late. Tell what was the

scheduled time of the meeting?

(A) 8: 20
(B) 8 : 10
(C) 8:05
(D) 8 : 00

100.Two positions of a die are shown.

If S is at the top, then what will be

at the bottom?

(B) 4

(A) ©
(C) 3 (D) 2

P.T.0.
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101.

102.

103.

DU22

ofg 42 : 165 : m : 3308, @

TS HGadR wimor ae e
1024 cm 3iR @8 240 cm &, &

HHH AHR & TOR THed § TamT
faszn st 31 e erger Y wpom o
Fftre wrand an -

(A) 8 cm (B) 16 cm

(C) 24 cm (D) 12 cm

foow Br-amand sl & 5 wevs, 8
femt 31k 5 o &>

(A) A\ By L.

(C) (D)

————1

101. 1f 42 : 165 :: m : 330, then the

102.

103.

TH&
2

value of m 4 will be -

(A) 2
(B) 5/6
(C) 3/4

(D) None of these

A rectangular courtyard of length
1024 cm and breadth 240 cm is
to be paved with same size of
square tiles. The maximum length
of the side of each tile will be-
(A) 8 cm (B) 16 ¢cm

(C) 24 cm (D) 12 cm

Which of the three dimensional

figure has 5 faces, 8 edges and §

vertices?

(A) A (B) | i

(c) (©) (—
T
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104.

105.

106.

i

g X T B 12T R ey
mziﬁﬁﬁﬂtﬁmﬁﬁm
e -
17
24

24
7
17
120

(A)

(B)
(C)

|
©® 3
wwaﬁﬁﬂﬁﬁgﬁlm4%
@ B T 8| Uit IR B B g
% 100 2 3R T 20% &1 T THE &
o 3T Jifesa Hra e & arfze-
(A) T 96
8) ¥ 120
(C) T 125
D) T 130

aft Rt art & v v & A
R Y, A arwe & s 6
-
(A)
(8)
©
(D)

200%
250%
300%

400%

[31]

104. A pipe X can fill the tank N 12

105.

106.

hours and pipe Y can fill the tank
in 8 hours. A third pipe Z empties
tank in 15 hours. If all pipes are
opened togather then after 5
hours, what portion of the tank

will be filled-

17
24
24
17
17
120

(A)
(B)
(C)

(©) 3

A shopkeeper allows 4% discount

on his marked price. If the cost
price of an article is ¥ 100 and he
has to make a profit of 20%, then

his marked price must be -
(A) T 96
(B) T 120
(C) T 125
(D) T130

If each edge of a square be
doubled, then the increase
percentage in its area will be -
(A) 200%

(B) 250%

(C) 300%

(D) 400%

P.7.0.

Lt
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107.

108.

yﬂ.

DU22

WO 25 G QUi 3 aitea @ -

(A) 12.5
(B) 13
(€) 13.5
©) 15

v o arae g & At I &1 20
T TR 9% 39 I &) IW B ARE
TAT | 3 A 3w e &2
(A) 240d2ad

(8) 7274 36 a8

(C) 480d 24 7

(D) 440§ 22 7§

(D)

D W

afe & WL 3+ 4 & I & & ey
IS 1.9, 48 #| 39 & TEmi &
7.9, 8 -

(A) 4 (B) 12

(C) 16 (D) 24

[32]

————

107. The average of first 25 positive

108.

109.

110.

integers is -
(A) 125
(B) 13
(C) 13.5
(D) 15

A father is twice as old as his son.
20 year back, he was twelve
times as old as his son. What are
their present ages?

(A) 24 & 2 year

(B) 72 & 36 year

(C) 48 & 24 year

(D) 44 & 22 year

If u,,=1———l—. then the value of
n n+l

u +u,+u,+u, +uis-

(A) (B)

(C) (D)

wnin |-
|h W —

If two numbers are in the ratio
3:4 and their L.C.M. is 48, Then
the H.C.F. of those numbers will
be -

(A) 4 (B) 12

(C) 16 (D) 24
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111

112.

113.

114,

bu22

H‘fﬂﬁﬁﬁamql?#lm
#@Tﬁ@lwmﬁfmmm
1'2@511?11?1333@-“@‘%5

() 40 (B) 70

(c) B0 (D) 100

o g & aRit feelt 22 Jdh aam

A B~

(A) 49n cmy’ (B) 196n cm?
(C) 484ncm’ (D) 28Brmcm
Rp=t 3 & B 0D Jen ab & -

a | atrh
=k HE Em -
b Z'Eﬁa—baar
1
() 2 Oy 3

[33]

111.

11d.

113

114.

4.7.
The ratio of two numbers 1°

ach
On subtracting 10 from e

e
number, the ratio becomes 1
then the greater pumber 5 -

(A) 40 (8) 70

(C) 80 (D) 100

ce of a circle is
uare

The circumferen
equal to the penimeter of a sq
of side 22 cm. The are2 of this

circle is -

(A) 49z cm? (B) 196r cm’

(C) 484r cm? (D) 28a cm?

Which of the following 1s an open

curve-

(A)

(C)

(B) Gi_)
D) X

U
@

Bt a+b
If E_ 51 then the value of _a_ :
will be -
!
(A) =3 (B) 3
(€ 2 (©) -3
P.T.O.
O A A

S [JF.
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v

Notesbg,Com

8.

116.

117.

118.

DU22

aft s & PO S HFIE
3:4:5:68 @ T & PN B
@

(A) 30°, 40°, 50°, 60°
(B) 90°, 120°, 150°, 180°
(C) 60°, 80°, 100°, 120°

(D) 60°, 80°, 95°, 125°

Jﬁ+1iﬁ+ﬁ? iﬂ’m%‘

(A) 2 (8) 3

(C) 6 (D) 9

I8 BT ¥ B! W= ange 59 24,
30 3k 54 & fafoma 9 R RS
e & 99e 5 W e & -

(A) 1080 (8) 1075

(C) 1085 (D) 1090

aft n ws Qe e 8, o9 sEm
(no-n) W& e 2 & -

(A 113 B 59

(C) 69 © 79

[34]

115,

116.

147

118.

L=
If the ratio of internal angles of 3
quadrilateral is 3:4:5:6, then the

angles of quadrilateral are -
(A) 30°, 40°, 50°, 60°

(B) 90°, 120°, 150°, 180°
(C) 60°, 80°, 100°, 120°

(D) 60°, 80°, 95°, 125°

(A) 2 (B) 3

(C) 6 (D) 9

The least number which divided
by 24, 30 and 54 leaves 5 as

remainder in each case, is -
(A) 1080 (B) 1075

(C) 1085 (D) 1090

If n is an integer, then (n3-n) is

always divisible by -
(A) 11 (B) 5

(C) 6 (D) 7
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119

I,:].?.U.

121,

122.

e 78 i3 SFIR, 0 g 5 gy

gﬁmﬁ%gluﬁﬁmho
g /BOC BT A & -
A

AN

BC

(A) 60° (B) 300
() 120° (D) 1500

o @ H T 10 i) & a
(Fm #) 39 TR & -
33,35,38,39,40,41,42 43,44 45

39 Ol 4 3ita WR Y e 4R

e oAl & g 3-
() 40 (B) S
c) 6 (D) 4

A H A0 B A S0% e d s

I A ¥ aa9 A fra videa aw &2
(A) S0 (8) 33%
2

© 665 (D) 25

semy ot 3rTs S & witad
3

(A) S (8) 5.6

(C) 7 (D) 28

119

120.

g1,

122.

p—

there 15
inside @
yf circle

As per the given figure:
an equilateral triangle
circle. If O is the centre ¢

then »BOC 1s equal 0 -

A
0
B C
(A) 60V - (By 30°
(C) 120° (D) 150"

The weight of all 10 students in @

class (In Kg.) is as -
33,35,38,39,40,41,42,43,44,45

The number of students having

weight more than the average

weight of the class iS -

(A) 40 (B) 5

(C) 6 (D) 4

A's salary is 50% more than that
of B. How much percent is B's
salary less than that of A?

1
(A) 50 (B) 33

(©) %2 (D) 25

The median of first five prime

numbers Is -
(A) 5 (B) 5.6
() 7 (D) 28
P.T.O.
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123.

124,

125.

126.

127,

128.

DU22

v ed] U QR HJiemge B
7 4000 & @0 € 3R R 39 W

% 2000 @9 Hl & T& 3N T 7,500
3 3 e | IHH! ¢ yfcrer € -

(A) 1500 (B) 50
(C) 25 (D) 15
2 I d mrmwmy -
3§ 7

a) = (B) 4
€) — (D) 12

105

Tfk axb = (a+b)? A 3x7 BT °H &-

(A) 25 (8) 10

(C) 20 (D) 100
89071 % 9 & 3iftva (Feha) W 3R
RIFT 94 &1 A & -

(A) 9000 (B) 9071
(C) 18000 (D) 9009
96 W1 U HeagT 9 & -

(A) IXVI (B) IVC
(C) Xcvi (D) LXXXXVI
(256)3“51'111?%-

(A) 192 (8) 16

[386]

123. A man bought an old mobile

124,

125.

126.

127.

128.

phone for 7 4000 and spent
% 2000 on it. He sold it for 3 7500,

His gain percent is -

(A) 1500 (B) 50
{C) 25 (D) 15
2 13
The LCM of v and — is -
12
(R) = (B) 4
24
(€} s (D) 12

If axb=(a+b)?, then value of 3*7
IS

(A) 25
(C) 20

(B) 10
(D) 100

Sum of face value and place value
of 9 in 89071 is -

(A) 9000 (B) 9071

(C) 18000 (D) 9009

The Roman number form of 96
is -

(A) IXvl
(C) XCVI

(8) IvC
(D) LXXXXVI

value of (256)¥% is -
(A) 192 (B) 16
(C) 64 (D) 8
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129.

A30.

131,

132,

7 U 1 AT U U 3 Sy
&'ﬂﬁmgwm@a%
sk 3o 4 0. S R wH

a1 B TS B -

(A) 21699,  (B) B8

() 43 (D) 63

a8 B 3 B §= Iage s
19404 Y T 3 OR e ot & Ham
oI B © -

(A) 2 (B) 3

() 7 (D) 11

31 it 1 2T 14 7 AR 1081
3 WA P DA 80 -

(A) 12 (B) 24

(C) 140 (D) 68

Ry o & B €1 10% TR
R ey Y X & ST A AN

(a) sad
(©) 15a§ (D) 209

129. The volume of a cube is SaMe as

130.

A3 L

132.

the volume of a cuboid having
length 9 c¢m, width & cm
height 4 cm. The length of the side

and

of cube will be -

(A) 216 cm (B) 8 cm

(C) 4 cm (D) 6 cm

Find the least number by which
19404 must be divided to get a
perfect square number-

(A) 2 (B) 3

(C) 7 (D) 11

The sum of two numbers is 14
and their difference is 10. The
product of these numbers will be-

(A) 12 (B) 24
(C) 140 (D) 68

In what time does a sum of
money become two times at the

simple interest rate of 1Qe4 per

annum?

(A) S year (B) 10 year

(C) 15 year (D) 20 year
P.T.0.
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133.

134.

135.

136.

Du22

'ﬂfa'a:b--z::iﬂn'\’b:c:s:sm
3 :b:c® A &IRE -
(A) 2:3:5 (B) 4:6:5

(C) 2:6:5 By Z:2:%9

ﬂﬁpﬂan&ﬁmtﬁﬁfﬁﬂmﬂﬁmq
g &, @ FE g ¥ e
sitea T8 & -

(A) pH

(B) r

© p+q+;+s+t

o 23

S & W @il o anT A
& -

(A) 120° (8) 360°

(C) 540° (D) 720°

ol s oo & o sk e
wAe: 7 W 3R 6 A &, Jur saw
210 Y. ol 3ma &, A e e
-

) 5®. (@ 7%

€ 10#® (o) 3.

133.

134,

135.

136.

Ifa:b=2:3 and b:c=6:5, then find

the value of a:b:c -

(A) 2:3:5 (B) 4:6:5

(C) 2:6:5 0y 2:2;5

If p, q, r, s and t are five
consecutive odd numbers, then

which of the following is not their

average-
(A) p+4

(B) r

p+q+r+s+t
(©) :

pqgrst
(D) ~5—

Sum of all internal angles of a

hexagon is-
(A) 120° (B) 360°
(C) 540° (D) 720°

If the length and width of a pond
is 7 m and 6 m respectively and
it contains 210 m’ water in it,

then its depth will be-

[A) 5m (B) 7 m

(€) 10m (D) 3m
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A

137.

i

138.

139.

140.

@MMWWWM
@ﬁzo%mmﬁmg
R A & WA 10% W i &
T W Siferer & -

(A) 10% (B) 30%

() 12% (D) 8%

TR 500 BT x%, 300 B yodk s #
?ﬁ::y?-
(A) 5:3 (B) 3:5
(C) 5:8 (D) 3:8

11.3%x11.3-2x11.3x1.3+1.3x1.3

T & -
(A) 100 (8) 10
(C) 158.76 (D) 114.60
i~ 11 maad-
l+ —
I+—2
8
(A) 3
2
(B) 3
5
(©) 3
(0) T & B

137,

138.

139.

140.

A trader lists his articles 20%

above their cost prices and allows
a discount of 10% at the time of
sale. His gain percent is -

(A) 10%
(C) 12%

(B) 30%

(D) 8%

If x% of 500 is equal to y% Of

300, then x.y is -
(A) 5:3 (B) 3:5

(C) 5:8 (D) 3:8

11.3x11.3-2x11.3x1.3+1.3x1.3

is equal to-
(A) 100 (B) 10
(C) 158.76 (D) 114.69
The value of |- — is -
1+ —
141
2
8
(A) 5
2
(B) 5
3
€ g
(D) None of these

P.T.0.
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141.

A W@ 3 : 4 B FAE A &1 D
Auu st FH A TEn @ -
(A) 7 (B) 12
(€ 21 (D) 28

42, Tk m 3R n wEe: W 3 faem guis

143.

ﬂwisﬁﬁsnﬁm 11<m<13d
12<ns 14aﬁﬂﬂﬁ$1ﬁ§ﬁm+n
@1 /I &N
(A) 23
(C) 27

(B) 26
(D) 26

U eI 3 70 BT H A WP BIF A
J FH U A Qeran 21 afk 40 B
e 3k 37 B g Qe & a8
21 Ve A aTe Bl &) G 8-
(Ay 77 (B) 3
(€) 7 (D) 63

Rrdar (00 144-145) ¢ Fr=forRaa og-ard

pu22

#1 ey seaaA Bt 3R g
B TR 3w grg-and ¥ [t axaard
& w |t @1 e <witar man @)

e cnil @t FeAT = 20,000

[40]

141.

142.

143.

Two numbers are in the ratio 3:4,

Their LCM is 84. The greater
number in them is-

(A) 7 (B) 12

(C) 21 (D) 28

If m and n are even and odd
integrers respectively which
satisfies the conditions 11<ms= 13
and 12<n<14, then the value of

m+n will be -
(A) 23 (B) 25
(C) 27 (D) 26

In a class of 70 students, every
student play atleast one game. If
40 students play cricket and 37
students play hockey, then
number of students who play both
the games will be -

(A) 77 (B) 3

(C) 7 (D) 63

Direction (Q. No. 144-145) : Study

the pie-chart carefully and answer
the questions. The pie-chart
represents the percentage of

people involved in various
occupations.

Total number of people=20,000

30%

A
30% griculture

Industry
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144.

AR BT I R a1 & anfirer i

&1 He Tt 3 2
(A) 1000 (B} 2000
(C) 4000 (D) 5000

(as. R e Roery i et & -

146.

147.

DU22

(A) 6000 (B) 3000

(C) 1800 (D} 3300

AT BUS SO H AHER &, 396 oY
B IR 5 - 4 2| Tl TN D Pt
T 14,400 ST AATH B3 1 A DY e BT
ferern faean fivene

(A) 6400  (B) %8000

(C) T 9000 (D) T 9400

e 3§ @ BiF vd FwamT PR
Y Y T & -

(A) 9cm,15cm, 12 cm

(B) 2cm,1cm,Sem

(C) 3cm,4cm, 5cm

(D) 5cm, 7cm, 9cm

[41)

144,

145.

146.

147.

L |
How many more People are

invelved in service than in trade?
(A) 1000 (B) 2000

(C) 4000 (D) 5000

How many people are involved in

agriculture -
(A) 6000 (B) 3000
(C) 1800 (D) 3300

A and B are two partners in a firm
sharing the profit in the ratio 5:4.
If the firm earns a profit of
¥ 14,400, then profit to be

received by A is -
(A) T 6400 (B) ¥ 8000

(C) £9000 (D) ¥ 9400

Which one of the following are not
the sides of a rght angle trangle -
(A) 9cm, 15 cm, 12 cm

(B) 2cm, 1c¢cm, S cm

(C) 3cm,4cm, 5cm

(D) Scm, 7cm, 9 cm

P.T7.0.
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144,

149,

150.

vin R 1 @udi 2 cm &1 afd R
Ak R v A O g e
s fb v @1 iRy g @) o
adh Y, O 39 A ) (waitsa)
A& hl AN R (=3, 14 &1 '{é}

)

(B) 2 em’
(D) 3.14 cm?

(A) 4 cm’
(C) 0.86 cm”

&) aiel &) fasert weeo &, S 10
quferan fRwfda & s &2

(A) 10 (B) 9

(C) 90 (D) 99

&= Frafm weym, el mds &
aRfr 120 cm &, 2 e A awfe srpaR
St man &) g angpta 2B aRkfe & -

(A) 360 cm (B) 320 cm

(C) 300 cm (D) 280 cm

(42]

148,

149,

150.

L2 |
Diameter ot a coin 1s 2 cm. 1f four
Such coins be placed on a table
SO that the rim of each touches
that of the other two, then area
of the unoccupied (shaded) space

betwean them is (Take n=3.14)-

Y

(B) 2 cm?
(D) 3.14 cm?

(A) 4 cm?
(C) 0.86 cm’

How many two digit numbers are
there which are exactly divisible

by 10?
(A) 10 (B) 9
(C) 90 (D) 99

Three regular hexagons of

perimeter 120 cm each are
joined as shown in figure. The

perimeter of this figure is-

(A) 360 cm (B) 320 cm

(C) 300 cm (D) 280 cm



151.

152.

153,

e o & fap -
(A) ﬁmaﬁﬁuﬁﬁmtl
(B) maﬁﬁuﬁlﬁmh

(C) ﬁﬂﬂmﬂ?fﬁﬂhﬁmll

(D) JURreH Tt

fearera A Bt & Wi @1 @R -

(A) ofrax ®an feor 3 @
(8) A # fhen & ofer 7 =0

(C) oY & zug 7 &1
(D) e o1 www ¥ 1 A
a1

e ¥ frcepe aw B T
EER A-

(A) gl
(B) I=md
(C) THRTHD
(D) w3 St

[43]

151.

152,

153,

Teacher to student 15

(A) In the position of the father.

(B) inthe position of the mother.
(C) in the position of friend and
well wisher.

(D) all of the above

The reason of running away of
students from school Is-

(A) lack of interesting classroom

teaching.

(B) lack of interest in education
of the students.

(C)
(D)

not punishing the students,
Indifference of teachers

towards the problem.

The likely behaviour of a3 despised
child in the class will pe -

(A) Ffurious

(B) enthusiastic

(C) negative

(D) runaway
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154,

155.

156.

DuU22

ot i Y Hiant & o a4
eyt arRon &

(A) HeeR-atlehilct RTbel-#1 o it
(B) e & A N i)

(c) fama & wit A )

(D) et B AR AN At

D B -

(A) NI HRW B A G4 IS &
ofter T anfRe|

(8) 3y # ey @k enfeel

(c) 3 Rz 3 Frgor @ anfiel

(D) 37w @it

98 3OS N WA Ol B U
R %A ¥ 9He A AR, W
afee b -

(A) TR It fravor Rt & i

&R I YUR &)

(B) 9% 3 02 & @TA 2 2|
(C) 38 I Rl & e &)
(D) a® e &+ 3MRH FR 2|

[44)

159,

155,

156.

|B]

The main 1eason behind the fatlure
of a newly appointed teacher Is

(A)

lack of Inter-personal

relationship.

lack of communication skllls,
lack of subject knowledge.
behaviour with

(B)
()
(D)

strict

students.

Teacher should-

(A) Introduce the chapter before
teaching.

(B) be proficient in his language.

(C) be an expert of his subject.

(D) All of the above

A teacher who Is not successful
In attracting his students should-
(A) improve his teaching method
by analyzing it,

(B) resign from his post.
(C)

(D)

find mistakes of his students.

start giving dictation.
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157.

158.

Y TERR 3 §
&

(A) TEHRS &

(8) mmﬁnm:lﬁ%;"d:;:::
aiRe)

(C) 3 w@d & aRa awy g 3

Qﬁmﬁm
Fﬁmm

(D) 1 BEll & ez 3 e

& TETd A FaE g
arfze|

ufe B BF HaT ¥ I8 B Fe 2

Y 39 TEY YRS FU1 M -

(A) TeFTand $ Baiea B AR AN
3l TETaen & fowe sen|

(8) = % wArar-fen & e W
e 393 wden &

(C) 3R ufirs Riftsee & o B
ez ¥ gfaes & wus B

(D) 9 AZX B T Vo B &Y
|

159. B s § v o aF afe seee-

DU22

(A) 3w frwen o1 SRR W
(B) 3% i o &) amaeaaa &,
7% 2 |
(c) $fta wrdEw & 51 Tl
(D) ﬁmﬁfﬂsmﬁﬁﬂﬁﬁ‘ﬂ

yavas &)

157.

158.

(45)

159.

students

iIf some of youf

in the
mishehave with YOU G

campus, you should-

(A) inform the principal.

(B) nform thewr guardian:

(C) improve their pehaviour

through your OWn character
and wisdom.
(D) runacampagn against these

students with the help of

other teachers.

what first thing will you do if @

¢hild faints in the class -
(A) rush to the principal's office
and ask for help.

(B) inform child’s parents and
wait for them.

(C) give him first aid and contact
nearby doctor.

make arrangements to send

the child home.

(D)

Students will take interest in the
lesson if the teacher -

(A) behaves with them in a
friendly manner,

gives them knowledge that
they need.

teach th!’nugh
programmes,

(B)
(C)

video

(D] tDld them it 15 HECESSEW fl'.'lr

learning.

"T-o-
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160,

161.

162.

puU22

31 0o Heas b faremelt gy g e
o @ TA IR 7 I, & 37

&1 IfRe?

(A) B FEE TR Tax el
W B & wfee|

(8) fremif &t @ = afer fs @
IS T | g8

(C) faamef & wan 2 arfee i o
g ¥ 3T am|

(D) faremeft r &ar 2 wfee & Q
RIS W SR TR 4§
Wy IR @S|

weraemen Rrewor 1 sref & -
(A) Faenfdiat @ fear s amem o,
TEANT, A T W |
(B) Aft® Tl & agwrEa Bt
@ fean wan avs|

(C) =ftsma fnam aem oem & geh
|

(D) (A) 3R (C) aAt

fneror & geeTeR® 3T & fore
Jgany & -

(A) AFRE

(B) Y@=

(C) afcird

(D) AT®

[46]

160. What a teacher should do when

161.

162.

he doesn't know the correct

answer of the question asked by

a student?

(A) Satisfy the student by giving
an ambiguous answer.

Tell the students that they
should not ask unrelated

(B)

questions.
Tell the students that he'll

give the answer later on.
Tell the students that they
should go to the library and
find the answer from the
books themselves.

(C)

(D)

Effective teaching means-

(A)

love, cooperation,
attachment and motivation
given to students.

to

(B) punishment given

students after moral offense.
(C) individual education and open
class discussion.
(D) (A) and (C) both
This is useful for comparative
study in teaching-
(A) Maps
(B) Diagrams
(C) Tables

(D) Graphs
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164.

165.

e Fnero &1 ot @ -

(A) TBW A oAt 3R Prars o
% glearor ¥ Reemear ard )

(8) B Ean far) 3k gwi A
aRfaa & &l

(C) Wﬂqmmﬁmﬁ
e AT &1

(D) 3o &
Rreror Y Ferm qomeh ag & B -
(A) v 2 snawaaa 4 B

(B) ez Al & 7 P!

-

(C) BT 3AYD F F T
auren= HLae | I

(D) mmmaﬁqﬂ"lﬁ

rarm

163.

164.

165.

i

ugh
The teaching method tNro ?

which a ctuld actively participates
15 -

(A) Story telhing method

(B) Role play method

(C) Question-answer method

(D) Conversation method

The feature of teaching through

Television 15-

(A) The programme enhances
the vision of both students
& teacher.

(B) students get acquainted to
innovative ideas and visuals.

(C) Television programmes bring
unity 1n national education.

(D) All of the above.

Best teaching system is that

where-

(A)

question-answers are not
needed

(B)

teachers ask questions to
students.

(C) students clear ther doubts

with teacherg.

(D) teachers angd Students poth

ask guestions
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166. framor saar A Rvajor &) woear &

167.

168.

DuU22

fre qur wexagof @7
(A) THERT BN TEUEAT

(B) Rar® & P
(c) fre @ Hftrs Qe

(D) W &1 FEdhT

e - 1 o Aty ¥ oRadw o™
¥ fore s ¥ oF-d @ o dm
aife -

(A) st 3R sftsR

(B) aRwsan 3R 3qWa

(C) dwaent 3R rea= Rl
(D) faehermr 3k wqwa

afe o “wt o gfeme & w
¢, A feffee AR A mem W@
TE-

(i) @ o gfemm 8 &)

(i) P o gfEer &

(i) PO o femm T &

(A) (1) 7= (if)

(B) (i) & (iii)

(C) (i) v (iif)

(D) & (i)

(48]

e

166. What is important for success in

167.

168.

the teaching profession?

(A) Prosperity of community

(B) Proficiency of teacher

(C) Educational qualification of
teacher

(D) Cooperation of principal

What two characteristic features
should be there in the teacher to
bring change in class work
methods -

(A) Prestige and authority

(B) Seniority and experience
(C) Eligibility and teaching degree

(D) Expertise and experience

If the statement "All students are
intelligent" is true, then which of
these following statements are
not true -

Q)
()

No student is intelligent.

Some

students are

intelligent.
(ili)

Some students are not
intelligent.

(i) and (ii)
(i) and (i)
(it) and (i)
Only (i)

(A)
(B)
(C)
(D)

Page- 47



169. ED - BTA Wy o

170.

171.

. ey §
ﬁﬂmﬁ%m‘ﬁmmg?
(A) aﬁ“mmﬁﬁ
(B) ﬁﬁaﬁ&ﬂ-mmm%

(C) TR el et
(D) I

U Aot e b R 3 v 8w

g -

(A) 99T - 990 R & & paEn
3|

(8) ot wie <@

(c) o e ardfem FreR A

(D) BT i AR-AR & aw- e

ﬂﬁﬁlﬁaﬁamwma&m
3 Rl SR T NEWIE YT JEI
aﬁﬁsﬁuﬁ,ﬁmﬂﬂm
R -

(A) mﬁwmﬂﬁfﬁﬁ'
(B) B fiatalal

[49]

170.

171.

[ ——

169. Which of the following is correct

teacher - student

about
relationship?

(A) Quite informal and close

(B) Limited to classroom only
(C) Full of harmony and respect

(D) Indifferent

A live classroom situation could
be like-
(A)

Fountains of laughter from
time to time

(B) Compiete peace

(C) Continuous conversation
between student and
teacher.

(D) Loud debate among
students.

If a parent asks the teacher to

discriminate or be partial for his
ward in the examination, the
teacher should-

(A)
(B)

try to help him.

tell him not to say this again,

(C) stop him from doing this

politely and firmiy,

(D) strictly tell him to leayve.
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172.

173.

174,

DU22

ﬁmmmmé%ma‘s
wﬁﬁgﬁmﬁmmml
mgaﬁmﬂﬂmﬁﬁﬁ%vﬁﬂf?fﬁﬁ
3 2 Ry TRV BT Sy faar e
(a) s TRIET

() Ffvraaan qlteror

(c) g udam

(D) ®fer Tefor

ua’i@afh&m.aﬁqéﬁ#mﬁm’f
A wEgar ¥ B EamH S
Ry R | o1y ey et & o e
g i 2 s AR- AR SR,
g AR 2 i v et g wfewE
o 3% R g8 IR & -
(A) wee wfem &t

(B) JUR HERT &

(C) WeTwE WA Bl

(D) woreh frgeror e &1

Pr=firfag & & o wemae Rren
oea T &7

(A) Riftem & ofy T

(8) Y srediper

(C) Wedm

(D) fadw of e

[50)

173,

174.

172, A student wlishes to know

whether he will perform well In 2
specific job. Which of the following
tools will be used to predict this
situation?

(A) Attitude Test

(B) Aptitude Test

(C) Intelligence Test

(D) Interest Test

A school teacher, Mr. Patel
developed a curriculum model
with the help of his students. This
model became so popular In the
coming years that the schools of
all the districts, states and country
implemented it. This Is an example
of -

(A) Demonstration Model

(B) Base Model

(C) Administration Model

(D) System Analysis Model

which of the following is not a

companent of inclusive

education?

(A) Respect for Individual
difference

(B8) Zero rejection
(C) Cooperation

(D) Special class establishment
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175.

176.

177.

(B) B

() ot & e bt

(D) 3EqUH

L e

A TR W 3G vy &1 o
& W wae & &1 59 R
e & @& S R -

(A) dufrs AEem

(B) wawiiie Ade=

(c) Pafors e

(D) wevdei Fdee

e e @ % giea ST
freror wmd @ -

(A) e

(B) BTG

(C) T

(D) wg™HUT

175.

176.

177.

[51)

Who takes decision in the

'grassroot model' of curriculum

development?

(A) Community

(B) Students

(C) School Inspectors of the
district

(D) Teachers

A teacher organises a discussion
with students and makes them
capable of selecting a suitable
subject in the higher secondary
level. This type of guidance is
called-

(A) Personal guidance

(B) Vocational guidance

(C) Educational guidance

(D) Psychological guidance

Teaching ald that comes under

the category of projected

medium is-

(A) Pictures
(B) Photographs
(C) Films

(D) Blackboard

quiog
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178.

179.

180.

DuU22

394 WETIS AT BT U JETERT £~
(A) TR a8

(B) A

(C) THAIBH

(D) 2aRBER

et ofteor faftral @ syt
ferdverat & -

(i) e

(i) favEsEraan

(i) deran

(iv) agRasan

(A) (i), (ii)

(B) (1), (i), (iv)

(C) (), (i), (1), (iv)

(D) (i), (v)

freror & WY Aewayof Rea & -

(A) SIS FE2Y
(B) WEIHS 3avd
() frurs aeva
(D) FoRrep |t

178. Anexample of visual teaching aid

179.

180.

Is-

(A) Flannel Board
(B) Radio

(C) Gramoaphone

(D) Taperecorder

Important characteristics of good
measuring techinques are-

(i) Objectivity

(i) Reliability

(i) Validity

(iv) Usability

(A) (i), (i)

(B) (i), (iii), (iv)

(C) (i), (i), (iii), (iv)

(0) (1), (iv)

The most important teaching
objectives are-

(A) Cognitive objectives

(B) Affective objectives

(C) Psychomotor objectives
(D) All of the above
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181.

182.

183.

&mmﬁuﬁmm*ﬁm&
1 7t 0 ot et ey i
(A) BT Frethaoy

(B) e 3wat o) vy
(C) 3T 32w o Ry
(D) IURITH |

ﬁﬂ%ﬁ!ﬁﬁﬂaﬁ?mﬁ%mqﬁ
2?
(A) SET B wm, e of Ry

%] O], S T JaEnyg B
aifee|

(B) DEMIBE BI 3N WE 08 s
2 arfe)
(C) ?ﬁﬁwwmaﬁ
|

(D) TEF ol At afel

7o g wna R gl o e

¢ &1 e

(1) et o Fvrcon apan & ¥ B
¥ P @ ¥ & e e

(ii) Mﬂgﬂﬂqﬁqﬂﬁﬂm'

(iil) mg@ﬁiﬂﬁwﬁ
aiee|

(A) &ae (1) F (i)

(B) et (ii) F (iil)

(C) &ae (i) @ (li))

(D) (i), (i) @ (li)

==

181. Which processes are carried out

182.

183.

by a teacher to do planning of
teaching?

(A)
(B)

Job analysis

Identification of teaching
objectives

Writing learning objectives
All of the above

(C)
(D)

Which of the following point is not

correct for story-telling

technique?

(A) Language, style and content
of the story should be easy,
interesting and spontaneous.

(B) The style of telling story
should be clear and
attractive.

It is not appropriate to tell
the story by reading.
(D) Story should be long.

()

Which points should be considered

while asking questions?

(i) There should be equal
distribution of questions for
all the students,

(i) Questions should not be
repeated.
There should be variety in the

style of asking questions.
only (i) and (ii)

only (ii) and (iii)

only (i) and (iii)

(1), (ii) and (iii)

(i)

(A)
(B)
(€)
(D)

P.T.O.



184, Freifsa § ¥ PH-W freror vty

185.

186.

DuU22

(A) W wfafe
(B) TEM! - HUA wiatd

(C) wraia Haft
(D) Fereor wiafh

Rveron 1 watftre anfé stwa &

3

(A) BT % aeR ¥ Ao aRkad

(B) Bl & Ful Aftha o1 fasr

(c) vt & aka & fRwfor

(D) U& 39geh Aol & foe T
B

Freforfas & & #9-9 v o ofy
A A T o o) farevee A &
(A) Wi sremaetl

(B) i B Bt A amfty

(C) 3wy

(D) ferat ot e

184. Which of the following Is not a

185.

186.

teaching technique?

(A) Question technique
(B) Story-telling technique
(C) Evaluation technique

(D) Ilustration technique

The most expected immediate

outcome of teaching is -

(A) Changes in the behaviour of
students in desirable

direction.

total
personality of students.

(C) Building characters of the
students.

(D) Getting selected for a
suitable job.

(B) Development of

Which of the following is not a
characteristic of a slow learner?
(A) Limited vocabulary

(B) Short span of attention

(C) Abstract thinking

(D) Limited range of Interests



187.

188.

189.

gran &7

(A) ATEIas Sfta &t Refmt 2
(B) wanms Rufra) )

(C) savmeen Rufea

(D) IR ¥ A D

FrafeRaa & @ ah-w1 Tom iy

Fneror & e & waffire afm 2-

(A) &N N IR S0 &

(8) et 2 Frepuzar

(C) Therast g vl & Rarn ik
TR

(D) Treres 2 fraror & afirsfy

v Fnere o1 o e @

(A) Brit® difem wx @ awgE

(B) B & silfere W # YUR BN

(C) wri & agyd R # weraa
B

(D) BF ¥ WET WOTIEN BT AT

AT

187.

188.

189.

Field study is related to-

(A) Real-life situations

(B) Experimental situations
(C) Laboratory situations
(D) None of the above

Which of the following statement

is most appropriate in the context

of effective teaching-

(A) Maintaining discipline in the
class.

(B) Teachers' honesty

(C) Teachers making students
learn and understand.

(D) Teachers' liking for the job of

teaching.

The primary duty of a teacher is

to-

(A) raise the
standards of students.

intellectual

(B) improve the physical
standards of students.

(C) help In all-round
development of students.

(D) imbibe value system in

students.

P.T.O.
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190.

191.

192,

Gy 3 A -7 e TR HaEo
3Rk B S &°

(A) F

(B) WA

(C) @™

(D) ¥g Tl

el B & frvas o o R
firer & fore Rroerg =8 s &) o
R1er® B & 1 3179

(A) BT R &g T8I &

(B) Hfivmas @1 v v g

(C) e ¥iva &, o wf¥rwmaes ¥ e
w@d Fmen|

(D) B @ ffa o1 & ax 3|

s Freres e & vt qwar 1 gwa
T R¥g Aien &-

(A) B B 3 &=

(B) O §TC T

(C) Bt & ear sty o=y ¥
fore

(0) Brt B Rrar ¥ wiem 3

[56]

190. Which of the following is more

191.

192.

interactive and student centric?
(A) Seminar

(B) Workshop

(C) Lecture

(D) Group discussion

A guardian never comes to see

you in school. As a teacher, you

will-

(A) ignore the child.

(B)

write a letter to the guardian.

(C)

go to meet the guardian
yourself, if possible.

(D) start punishing the child.

A teacher asks the questions in
the class. Its main objective is to-
(A) keep students busy,

(B) maintain discipline.

(C) attract student's attention.

(D) teach the students.
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193.

194.

195,

uﬁmtﬁmm,@,ﬁqﬁﬁw
g, a%%ﬁﬁﬁmm_

(A) 3% Fean ¥

(B) e Brg 30|

(C) 3% & &3 & B 3y
(D) Rraror agfer & wden st

;3 Rrers Brat & S asiia

g, 3 -

(A) 379 M SR B i a%
Al

(B) F WX & §HGE §
TETAT R

(C) 3= 3w U8 &I

(D) Fffes Rreror 9o & fore Bam
Al

fa<i 7= & fore wrasieTor &1 wem
g -

(A) URER

(B) faamm

(C) Af]

(D) & & HeF

[57]

B]

193. If the students are not taking

194.

195,

interest in your teaching, then
being a teacher you will-

(A) ignore them.

(B) leave the class.

(C) ask them to pay attention.

(D) review the teaching method.

Those teachers are popular
among students who-

(A)
(B)

develop intimacy with them.
help them to solve their
problems.

(€)
(D)

award good grades to them.
take classes for extra tuition

fee.

The first source of socialization
for a child is-

(A) family

(B) school

(C) temple

(D) playground
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196.

197.

198.

gt & A 1 fasra 74 &g I
Fa1 WIS T &7

(C) gm-uram
(D) R & F<R B TQ® FTH

R FR &=

greffies o) o e guraeE A

v A & 2 e, aaifs-

(A) R wa A efavare Rty
& 2l

(8) TE Hftnm @ e a= e

(C) ur difz e ¥ wras &

(D) ur Famedt @Y wrpferas ararazor
R A o weras @

wpeht Rnem oY wporaren Rrdv wa @ Pt
o ¢ -

(A) Fuwya g

(8) fareirg smaum

(C) i weam
(D) Preres-Rran Y wporaen

B —

196. What do you think is necessary

197.

198,

for the development of morality
in the students?

(A)
(8)
(C)
(D)

Sermon

Family environment
Worship

Telling them the difference
between good and bad on

every occasion.

At primary level, It is better to

teach in mother language
because-
(A) It develops self-confidence in

children.
(B)
(C)

It makes learning easy.

It is helpful in intellectual
development.

(D) It helps children to learn In

natural atmosphere.

The quality of school education
exclusively depends upon-

(A) Infrastructural facllities

(B) Financlal provisions

(C) International support

(D) The quality of teacher's

education
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199.

200.

mm-mqﬁm%m’mg?

(A) Srfamren wdeor
(B) wghy adtaqor
(C) Iuereer wrdaror
(D) zrEifes advaror
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‘ﬂ‘h:mﬁﬁ.m&:

(A) FEY BN Tawrd T8 I &

(B) BH BV ST 18 &

(C) Qe BRI A G- SHMA e
&l

(D) e St gt sy v e
e &

(s8]

B]

199. Which test is carried out to

200.

determine the ability of learning
of a teacher ?

(A) Aptitude test

(B) Attitude test

(C) Acheivement test

(D) Scholastic test

People of high intellectual ability
come into teaching only when
they-

(A) find no other occupation,
(B) want to work less.
(C) want to earn more money
through tuition.

(D)

want to lead a challenging life

like a teacher.

P.T.O
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